

Page 1 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	21,800.00000	21,800.00				
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	153003P	(1)	38,000.00000	38,000.00				
PROGRE	SS SCHEDULE	LS						
0004	153005M	6.000	8,000.00000	48,000.00				
PROGRE	SS SCHEDULE UPD	ATE U						
0005	154003P	(1)	417,000.00000	417,000.00				
MOBILIZ	ATION	LS						
0010	159003M	50.000	100.00000	5,000.00				
BREAKAWAY BARRICADE U								
0011	159006M	250.000	80.00000	20,000.00				
DRUM		U						



Page 2 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0012	159009M	800.000	50.00000	40,000.00				
TRAFFIC	CONE	U						
0013	159012M	1,282.000	31.50000	40,383.00				
CONSTR	RUCTION SIGNS	SF						
0014	159015M	2.000	3,500.00000	7,000.00				
CONSTR SIGN, 4'	RUCTION IDENTIFICAT X 8'	TION U						
0015	159027M	4.000	10,000.00000	40,000.00				
ARROW	BOARD, 4' X 8'	U						
0016	159030M	4.000	18,000.00000	72,000.00				
PORTAB SIGN	LE VARIABLE MESSA	GE U						



Page 3 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWA		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0017	159108M	4.000	18,000.00000	72,000.00				
TRAFFIC CONTROL TRUCK WITH U MOUNTED CRASH CUSHION								
0018	159138M	15.000	4,500.00000	67,500.00				
HMA PA	тсн	Т						
0019	159262M	2.000	3,500.00000	7,000.00				
CONSTR SIGN, IIJ	RUCTION IDENTIFICA A 8' X 5'	ATION U						
0020	159300M	270,600.000	0.64000	173,184.00				
TRAFFIC	STRIPES, LATEX, 4	" LF						
0021	159302M	1,650.000	0.51000	841.50				
TRAFFIC	STRIPES, LATEX, 8	" LF						



Page 4 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt	t Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0022 15	9312M	24,750.000	0.01000	247.50				
TRAFFIC MAI LATEX, 8"	RKINGS LINES,	LF						
0023 15	9314M	7,650.000	0.01000	76.50				
TRAFFIC MA LATEX, 24"	RKINGS LINES,	LF						
0024 15	9320M	1,800.000	5.50000	9,900.00				
TRAFFIC MAI	RKINGS SYMBOL	.S, SF						
0025 16	60004M	1.000	3,700.00000	3,700.00				
FUEL PRICE	ADJUSTMENT	DOLL						
0026 16	60007M	1.000	500.00000	500.00				
ASPHALT PR	RICE ADJUSTMEN	IT DOLL						



Page 5 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	: Set:	Cat A	It Member:	
0027 161003P	(1)	38,000.00000	38,000.00				
FINAL CLEANUP	LS						
0028 201003P	(1)	40,000.00000	40,000.00				
CLEARING SITE	LS						
0029 302051P	10.000	1,500.00000	15,000.00				
DENSE-GRADED AGGREGA BASE COURSE, VARIABLE THICKNESS	ATE CY						
0030 401009P	4,027.000	29.50000	118,796.50				
HMA MILLING, 3" OR LESS	SY						
0031 401017P	10,383.000	28.00000	290,724.00				
MICRO-MILLING	SY						



Page 6 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>ON</b> : 0001	ROADWAY		Cat Alt	: Set:	Cat A	It Member:	
0032	401021M	200.000	330.35000	66,070.00				
HOT MIX REPAIR	( ASPHALT PAVEME	NT SY						
0033	401024M	500.000	20.00000	10,000.00				
	G OF CRACKS IN HO T SURFACE COURS							
0034	401027M	11,900.000	5.50000	65,450.00				
POLYME	ERIZED JOINT ADHE	SIVE LF						
0035	401030M	685.000	18.75000	12,843.75				
TACK C	DAT	GAL						
0036	401054M	468.000	487.97000	228,369.96				
_	( ASPHALT 12.5 M 64 DE COURSE	4 T						



Page 7 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	: Set:	Cat A	It Member:	
0037	401108M	5.000	625.00000	3,125.00				
CORE S	AMPLES, HOT MIX T	U						
0038	424110M	253,065.000	6.97000	1,763,863.05				
CHIP SE	AL PG88-22FR	SY						
0039	610003M	90,200.000	1.31000	118,162.00				
TRAFFIC	STRIPES, 4"	LF						
0040	610007M	550.000	2.63000	1,446.50				
TRAFFIC	STRIPES, 8"	LF						
0041	610012M	1,675.000	55.38000	92,761.50				
RPM, MO LENS	DNO-DIRECTIONAL,	WHITE U						



Page 8 of 12

Contract ID: 24135 Counties: MORRIS

**Letting Date:** October 22, 2024 **District(s):** N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) ASPHAL SYSTEM					
Alt Se	t / Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0042	610014M	8,250.000	0.01000	82.50				
TRAFFIC	C MARKING LINES, 8"	LF						
0043	610017M	2,550.000	7.50000	19,125.00				
TRAFFIC MARKING LINES, 24" LF								
0044	610018M	545.000	55.38000	30,182.10				
RPM, MO	ONO-DIRECTIONAL, LENS	U						
0045	610024M	2,220.000	90.00000	199,800.00				
REMOV	AL OF RPM	U						
0046	610036M	90,750.000	1.38000	125,235.00				
REMOVAL OF TRAFFIC STRIPES LF								
0047	610039M	11,200.000	0.01000	112.00				
REMOV	AL OF TRAFFIC MARKI	NGS SF						



Page 9 of 12

Contract ID: 24135 Counties: MORRIS

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

Contract Description: Route 23, Route 287 to CR 694

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt Se		Cat Alt Member:		
0048 610060M	600.000	9.75000	5,850.00				
TRAFFIC MARKINGS SYMBO	LS SF						
0049 159141M	750.000	190.00000	142,500.00				
TRAFFIC DIRECTOR, FLAGG	ER HOUR						

**Section Totals:** \$4,471,631.36



Page 10 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

Contract Description: Route 23, Route 287 to CR 694

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERIN	G Cat Alt	Set:	Cat A	It Member:	
0006 155015M	1.000	40,000.00000	40,000.00				
FIELD OFFICE TYPE E SET U	JP U						
0007 155033M	14.000	9,000.00000	126,000.00				
FIELD OFFICE TYPE E MAINTENANCE	МО						

Section Totals: \$166,000.00



Page 11 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

Contract Description: Route 23, Route 287 to CR 694

Line No / Item ID Item Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0003 NON-PARTICIPATING Cat Alt Set: Cat Alt Member:

 0002
 152015P
 1.000
 20,000.00000
 20,000.00

 POLLUTION LIABILITY INSURANCE
 DOLL

Section Totals: \$20,000.00



Page 12 of 12

Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 District(s): N1

**Call Order:** 135 **Project(s):** 0023340

Contract Time: 09/29/25 COMPLETION DATE Min: Max:

Contract Description: Route 23, Route 287 to CR 694

	naot Booonption.	Noute 25, Noute 26	57 10 011 00 1					
	lo / Item ID Description		(1) ASPHALT PAVING SYSTEMS, INC.					
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>SECTION</b> : 0004 EROSION CO		NTROL	Cat Alt	Set:	Cat A	It Member:	
8000	158030M	25.000	1,035.00000	25,875.00				
INLET F	ILTER TYPE 2, 2' X 4	· U						
0009	158072M	2.000	2,500.00000	5,000.00				
OIL ONL TYPE 1	Y EMERGENCY SPI	LL KIT, U						
Secti	on Totals:			\$30,875.00				
	Contract Totals			\$4,688,506.36				
	Cost Plus Time Totals			\$4,688,506.36				

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 135 Contract ID: 24135 Counties: MORRIS

Letting Date: October 22, 2024 10:00 AM District(s): N1

**Contract Time:** 09/29/25 COMPLETION DATE

Contract Description: Route 23, Route 287 to CR 694 Project(s): 0023340

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	ASPHALT PAVING SYSTEMS, INC.	\$4.688,506,36	100.00%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.